### **COVER SHEET**

																	С	S	2	0	0	) [	3 3	L	1	5	3	0	
																	•	SI	C F	۹	gist	tra	tior	Ņ	un	nbe	<u>-</u>		
N	Ti	\ C		ė T	E	L		<b>A</b>	S	r	4	1	To					<b>.</b> T		<b>-</b>	T				T		T		
	<u>  '</u>					-		4	3	' '	4	C	0	R	F	' (	ין נ	R	Α	T		+	O	N	-	-	-	_	
L	<u> </u>							!		(Co	omp	any	s Fu	ا اا <i>ا</i>	i Van	-L- 1е)	l				L.,						<u> </u>		
		T		···-	<del></del>		<del></del>	т			Ţ		·			·		-											
2 S	8	t	h		F	1	0	0	r		N	Α	С		T	0	W	6		+	,		3	2	2	n	d		
C	ŧ	r t	e y	е	t	Ť	а	B	o u	n i	j g	f	a C	C	t t	0		C	ì	-	0	b	a	-	<b>!</b>				
			7		<b>I</b>	<u> </u>				Addr		No. S		t Cit		y own	/Pro	L. vîn	 ce)				<u> </u>					<u>[</u>	
										<b></b>	1							_											
L	Geo				<b>olir</b> Perso		Y. M	art	ne	<b>Z</b>									. 5.				) 7						
		10	,OHG	acı.	Perso	anj													(Co	ותנינ	par	ıy T	elep	ho	ne	Nu	mbe	r)	
1	2		3	i.	1						2 3	T -	В									oΤ	6.				ery F	irst	
Moi			Day	<del> </del>						<u> </u>	(For	n Ty	pe)								L	 Иог	nth			Fri	day Day	<u> </u>	l
(Fis	cal	Yea	r)																				(Anr	ıua	ľV	leet			
												lat /		lica	blo			<u>-</u>			7								
								(	Sec	onda		ense					ble)												
															•														
				GF	<u> </u>				ĺ								Г				t		11.						
Dept	Rec	quir					·-····		ŀ								<u></u>	A	mei				p <mark>pli</mark> des	car	ne				
Num	ber/	Sec	tion																			., .,	0.03						
				•													1				·		1	T					
Total	No.	of.	Stoc	kho	ders	i.											i		Do	me	sti	С		ــــــــــــــــــــــــــــــــــــــ	F	ore	ign		
									,					_,,	******	*****		<u> </u>											
		•					To	be	ąço	ompl	ished	l by S	SEC F	ers	onn	el co	nce	rne	d					-come				******	
Т	$\top$	T				-		7																					
	egi sega	File	Nur	nbe	r	<del>- 3 / 5</del> 3		d <del>, , , ,</del>	1000	phone I alway	Ĺ	CU	9. 1917 P. (2)	<i>2</i> 94,794.		<del>iar</del> es	() * + + <i>*</i>	Marine.	1.500	ware.	Ser Se	Livey.		yr trys	reer.	79) 1 sun	Cesa ne a	erter	ing dynad
- 1	T	T 1		Т		<del>-</del> T																							
l		Dog	ume	ent l	D						Cas	hier		·															
, i					- b1-e-d.t-	he.qu-re																							
		.ст	ΑM	DC			-[.					Re	mar	ks: I	Plea	se us	se Bi	LAC	:K in	k fe	or s	car	nnin	g pi	ırc	ose	·S		
		J 1		rJ			-[																	<b>⊸</b> 1⁻ '			-		

#### SECURITIES AND EXCHANGE COMMISSION Metro Manlla, Philippines

-a	DNA	22 D
FL 3	KIW	23-B

REVISED

#### STATEMENT OF CHANGES IN BENEFICIAL OWNERSHIP OF SECURITIES

Fifed pursuant to Section 23 cf.the Securities Regulation Code Eheck box if no longer subject

ែ្រប្រែក្រស់ ក្រុមក្រុមក្រុមក្រុមក្រុមក្រុមក្រុមក្រុម													
1. Name and Address of Reporting Person	2. Issuer Name and T	7. 1		<del></del>	7. Relations	snip of Reporting Person to	ssuer (Check all appucable)						
Mantra Resources Corporation		ickel Asia Corpo	ration (NIK	(L)		Quédor'	12	X 10% Owner					
(E.DSI) (First) (Middle)	3 rax identification Number		5. Statement for Month/Year		_	Otticer		Other					
		660-014	.la	ın-21		(give title be	elow)	(specify below)					
30th Floor, NAC Tower, 32nd Street	4. Crtizenship	000-014	6. If Amendment	hate of									
		1	Original (Month)	Year)									
Taguig	Fil	lipino		· T	<u> </u>								
(City) (Province) (Postal Code)	Table 1 - Equity Securities Beneficially Owned												
					3 Amount	of Securities Owned at End	I a a si	6. Nature of Indirect Beneficial					
Glass of Equity Security	2. Transaction	4. Securities Acquired (A) or Disposed of (D)				of occasives ourse at rais	Direct (U) or morest	P. Mathte of further Periendar					
i ·	Date			,	of Month		0.*	Омивавјир					
:	(Month/Day/Year)	Amount	(A) or (D)	Price	*	Number of Shares							
<u> </u>			arting Balar			3,529,392,736	1	through PCD Nominee Corp.					
				5.28		11,700	I.	through PCD Nominee Corp.					
Common	25/01/2021	61,776.00	A		<del></del>	500,000		through PCD Nominee Corp.					
Common	27/01/2021	2,650,000.00	<u> </u>	5.30			1.	through PCD Nominee Corp.					
Common	27/01/2021	245,500.00	A	4.91	ļ <u>.</u>	50,000	<u> </u>	through PCD Nominee Corp.					
Common	28/01/2021	4,721,500.00	A	4.97		950,000	1.						
Соттоп	28/01/2021	1,145,400.00	A	4.98		230,000		through PCD Naminee Corp.					
Common	28/01/2021	1,696,600.00	,A	4.99		340,000	<u> </u>	through PCD Nominee Corp.					
Common	28/01/2021	2,400,000.00	A	5.00		480,000	<u> </u>	through PCB Nominee Corp.					
Common	29/01/2021	14,433,700.00		4.70	<u> </u>	3,071,000	<u> </u>	through PCD Nominee Corp.					
Common	29/01/2021	608,880.00	Α	4.72	L	129,000	<u> </u>	through PCD Nominee Corp.					
Common	29/01/2021	948,000.00	Α	4.74	<del></del>	200,000	!	through PCD Nominee Corp.					
Common	29/01/2021	950,000.00	Α	4.75		200,000	1 1	through PCD Nominee Corp.					
Common	29/01/2021	952,000.00	A.	4.76	<u>i j</u>	200,000	1	through PCD Nominee Corp.					
Common	29/01/2021	954,000.00	A	4.77		200,000	I	through PCD Nominee Corp.					
Common	29/01/2021	1,968,000.00	Α	4.92		400,000		through PCD Nominee Corp.					
Common	29/01/2021	988,000.00	Α	4.94		200,000	l l	through PCD Nominee Corp.					
Common	29/01/2021	495,000.00	Α	4.95		100,000	1 !	through PCD Nominee Corp.					
Common	29/01/2021	496,000.00	Α	4.96		100,000	1	through PCD Nominee Carp.					
		1											
				TOTAL.		7,361,700	[						
		CURRENT BALANCE				3,536,754,436	1	through PCD Nominee Corp.					

(Print or Type Responses)

If the change in beneficial ownership is 50% of the previous shareholdings or is equal to 5% of the outstanding capital stock of the issuer, provide the disclosure requirements set forth on page 3 of this form.

Reminder. Report on a separate line for each class of equity securities beneficially owned directly or indirectly.

- ler. Preport on a separate tine for each class of equity-securities beneficially winded directly or indirectly.

  (1) A person is directly or indirectly the peneficial owner of any equity security with respect to which he has or shares:

  (A) Volling power which includes the power to yote, or to direct the voting of, such security, and/or

  (B) Investment power which includes the power to dispose of, or to direct the disposition of, such security.

  (A) A person will be deemed to have all endicing therefold; interest in any equity security which is:

  (A) held by members of a person's immediate family sharing the same household.

  (B) held by a partnership in which such person is a general partner.

  (C) had by a composition of which such person is a costropting shareholder, or

  (C) sobject to any contract, arrangement or understanding which gives such person voling power or investment power with respect to such security.

#### FORM 23-B (continued)

# Table II - Derivative Securities Acquired, Disposed of, or Beneficially Owned (e.g., warrants, options, convertible securities)

1. Derivative Security	2. Conversion or	3. Transaction Date (Month/Day/Yi)	4 Number of Deriva Acquired (A) or D	tive Securities sposed of (D)	5. Date Exercisable and Expiration Date (Month/Day/Year)	6. Title and Underlying !	Amount of Securities		18. No. of Derivative Securbes Beneficially Owned at	9. Owner- ship Form of Derivative Security; Direct (D)	of Indirect Beneficial Ownership	
			Amount	(A) of (D)	Date Exercisable	Expiration Date	Title	Amount or Number of Shares	<u> </u>	Month Month	or maineer (s)	<u> </u>
		<u></u>							ļ <u></u>	<del> </del>		
							ļ	4.	ļ	<u> </u>		<del></del>
	- 1			<u></u>			ļ <u>.</u>	ļ	ļ	ļ	<del>                                     </del>	+
							ļ		<u> </u>	<del> </del>	-	
						ļ. <u></u>	<del> </del>	ļ		<u> </u>		
						<u> </u>	ļ			<del> </del>	-	
	<u>:</u>					<u> </u>		<u> </u>				
				<u></u>								
			[. <u></u> ,		· · · ·	<u> </u>	_			<u> </u>		
						<u> </u>	<u> </u>		ļ	<u> </u>		
							<u> </u>		<u> </u>	<u> </u>		<u> </u>

Explanation	of.	Responses:

Note: File three (3) copies of this form, one of which must be manually signed.

Attach additional sheets if space provided is insufficient.

Date

# DISCLOSURE REQUIREMENTS IN CASE OF MATERIAL CHANGES IN BENEFICIAL OWNERSHIP (50% INCREASE/DECREASE OR EQUIVALENT TO 5% OF THE OUTSTANDING CAPITAL STOCK OF ISSUER)

#### Item 1. Security and Issuer

State the title of the class of equity securities to which this Form relates and the name and address of the principal executive offices of the issuer of such securities.

#### Item 2. Identity and Background

If the person filing this Form is a corporation, partnership, syndicate or other group of persons, state its name, the province, country or other place of its organization, its principal business, the address of its principal office and the information required by (d) and (e) of this Item. If the person filing this statement is a natural person, provide the information specified in (a) through (f) of this Item with respect to such person(s).

- a. Name;
- b. Residence or business address;
- c. Present principal occupation or employment and the name, principal business and address of any corporation or other organization in which such employment is conducted:
- d. Whether or not, during the last five years, such person has been convicted in a criminal proceeding (excluding traffic violations or similar misdemeanors) and, if so, give the dates, nature of conviction, name and location of court, any penalty imposed, or other disposition of the case:
- e. Whether or not, during the last five years, such person was a party to a civil proceeding of a judicial or administrative body of competent jurisdiction, domestic or foreign, and as a result of such proceeding was or is subject to any order, judgment or decree, not subsequently reversed, suspended or vacated, permanently or temporarily enjoining, barring, suspending or otherwise limiting involvement in any type of business, securities, commodities or banking; and
- f. Citizenship.

#### Item 3. Purpose of Transaction

State the purposes of the acquisition of securities of the issuer. Describe any plans or proposals which the reporting persons may have which relate to or would result in:

- a. The acquisition by any person of additional securities of the issuer, or the disposition of securities of the issuer;
- b. An extraordinary corporate transaction, such as a merger, reorganization or liquidation, involving the issuer or any of its subsidiaries;
- c. A sale or transfer of a material amount of assets of the issuer or of any of its subsidiaries;
- d. Any change in the present board of directors or management of the issuer, including any plans or proposals to change the number or term of directors or to fill any existing vacancies on the board;
- e. Any material change in the present capitalization or dividend policy of the issuer;
- f. Any other material change in the issuer's business or corporate structure;
- g. Changes in the issuer's charter, bylaws or instruments corresponding thereto or other actions which may impede the acquisition of control of the issuer by any person;
- h. Causing a class of securities of the issuer to be delisted from a securities exchange;
- i. Any action similar to any of those enumerated above.

#### Item 4. Interest in Securities of the Issuer

a. State the aggregate number and percentage of the class of securities identified pursuant to Item 1 beneficially owned (identifying those shares which there is a right to acquire within thirty (30) days from the date of this report) by each person named in Item 2. The abovementioned information should also be furnished with respect to persons who, together with any of the persons named in Item 2, comprise a group.

b. For each person named in response to paragraph (a), indicate the number of shares as to which there is sole power to vote or to direct the vote, sole or shared power to dispose or to direct the disposition. Provide the applicable information required by Item 2 with respect to each person with whom the power to vote or to direct the vote or to dispose or direct the disposition is shared.

c. Describe any transaction in the class of securities reported on that were effected during the past sixty (60) days by the persons named in response to paragraph (a). The description shall include, but not necessarily be limited to: (1) the identity of the person who effected the transaction; (2) the date of the transaction; (3) the

amount of securities involved: (4) the price per share or unit; and (5) where or how the transaction was effected.

- d. If any other person is known to have the right to receive or the power to direct the receipt of dividends from, or the proceeds from the sale of such securities, a statement to that effect should be included in response to this Item and, if such interest relates to more than five (5%) percent of the class, such person should be identified.
- e. If the filling is an amendment reflecting the fact that the reporting person has ceased to be the beneficial owner of more than five (5%) percent of the class of securities, state the date on which such beneficial ownership was reduced.

## Item 5. Contracts, Arrangements, Understandings or Relationships with Respect to Securities of the Issuer

Describe any contract, arrangement, understanding or relationship among the person named in Item 2 and between such persons and any person with respect to any securities of the issue, including but not limited to transfer or voting of any of the securities, finder's fees, joint ventures, loan or option arrangements, puts or calls, guarantees of profits, division of profits or loss, or the giving or withholding of proxies, naming the person with whom such contracts, arrangements, understandings or relationships have been entered into. Include such information for any of the securities that are pledged or otherwise subject to a contingency the occurrence of which would give another person voting power or investment power over such securities except that disclosure of standard default and similar provisions contained in

#### Item 6. Material to be Filed as Exhibits

Copies of all written agreements, contracts, arrangements, understandings, plans or proposals relating to:

- a. the acquisition of issuer control, liquidation, sale of assets, merger, or change in business or corporate structure or any other matter as disclosed in Item 3; and
- b. the transfer or voting of the securities, finder's fees, joint ventures, options, puts, calls, guarantees of loans, guarantees against losses or the giving or withholding of any proxy as disclosed in Item 5.

After reasonable inquiry and to the best of my knowledge and belief.	certify that the information set forth in this Report is true, complete and accurate.
This report is signed in the City of Taguig on	_, 2021.

Maria Patricia Z. Riingen

Director